
? 









Statement :-
Some machine are kite. / कुछ मशीन पतंग हैं।

No machine is hero. /कोई मशीन हीरो नही ं है।

Conclusion:-
Some Machine are hero. / कुछ मशीन हीरो हैं।

All kites are hero./ सभी पतंग हीरो हैं।
Some kite are hero./ कुछ पतंग हीरो हैं।



Find the missing  :-

100 , 60 , 80 , 150 , ?

1. 300
2. 210
3. 310
4. 340
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Find the missing :-

1495 : 11 :: 2659 : ?

(A) 44 
(B) 33
(C) 55
(D) 22
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Find the option which should replace (?)

3 ( 21 ) 92

5 ( ? ) 18

7( 21) 74

(A) 28

(B) 25

(C) 35
(D) 38



Find the missing  :-

(A)12
(B)22
(C) 25
(D)21
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11 17 8

5 3 15

3 7 ?

361 729 1225



Find  the number of triangle (?)

(A) 20

(B) 26 

(C) 25 
(D) 23 



Find the ODD ONE (?)

(A) 10m

(B) 13p

(C) 15p

(D) 20w



Find the SQUARE (?)

(A) 14 

(B) 12   

(C) 15

(D) NOT



Find the option which should replace (?)

43 : 26 : 4  ::  52 : 36 : ?

(A) 27

(B) 16

(C) 25
(D) 81



Find the option which should replace (?)

7 , 9 , 25 , 28 , ?

(A) 31

(B) 29.5

(C) 28.5
(D) 30.5



Find the option which should replace (?)

8 * 2 * 5 = 2645

5 * 7 * 3 = 7253

9 * 6 * 5 = ?

(A) 5369

(B) 6259

(C) 6815
(D) 9256



Find the option which should replace (?)

81 : 64 ::  32 : ?

(A) 25

(B) 16

(C) 35
(D) 49



Find the missing  :-

1. 68
2. 71
3. 53
4. 76
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8

6 54 7

4

12

8 51 4

7

14

9 ? 5

9



Find the option which should replace (?)

7 : 24 :: ? : ?

(A) 30 : 100

(B) 23 : 27

(C) 19 : 58
(D) 11 : 43
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Find the option which should replace (?)

363 : 489 :: 579 : ?

(A) 562

(B) 471

(C) 382
(D) 281
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Find the MISSING (?)

992 , 733 , 845 , 632 , ?

(A) 114

(B) 326

(C) 425
(D) 947

Kuldeep Mahendras Reasoning 



Find the MISSING (?)

752 : 28 :: 623 : ?

(A) 41

(B) 42

(C) 45
(D) 46
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Find the MISSING (?)

L * U : 3 :: N * W  : ? 

(A) 4

(B) 6

(C) 7
(D) 9
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Find the MISSING (?)

TD : 16 :: YG : ? 

(A) 25

(B) 27

(C) 81
(D) 9
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Find the option which should replace (?)

13 + 14 = 13 
34 + 42 = 67 
41 + 26 = ? 

A. 83
B. 76
C. 84
D. 74



Find the option which should replace (?)

Plant: seeds  :: ? : ?
पौधा: बीज : : ? : ?

A. Steam : hot / भाप: गर्म
B. B. Tailor : Clothing / दजी: वस्त्र
C. C. Water : thirst / पानी: प्यास
D. D. Fruit : flower / फल: फूल


